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Section A: investigation (5 marks) Peorformance Task
1 Recall the propertties of materials that you learnt in ‘Exploring Materials’ ‘(Primary
Three topic). Follow the instructions and write your answer in the space provided.

(2

instructions:

1. You are given three materials, A, B and C, and a toich.
- 2. Use the fit torch to test the properiy of the material.

3 ’}Prooess skilk:

Comparison

Which material alfows some light to pass through? Material

Which material allows most fight to pass through? Material —

Which material aliows no fight to pass through? Material ,___
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A lit candle is placed in the lantem in Diagram 1. Part X of the lantern was raised
as shown in Diagram 2. The candle (shown by the dotted outline} will not be seen
from the outside but the latem will be bright encugh to light up the area around i,

Part X
(folded)

Diagram 1

(@) Which material, A, B and C, is most suitable for making part X? Explain your
answer. 12}

(b) State one cther property that the material you have chosen in (a) must have
to make it suitable for ifs use. (11
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Foreach quest!onfmm 2to4 fouropﬁonsaregwen One of them |sihe correct

answer. Make your choice (1, 2, 3or 4) and shade your answer in me Ophcal Answer

Sheet.

Optical Answer Sheet 2
3
g

{6l

2 Which of the following represents the life cycle of a grasshopper?
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The diagram shows a plant.
Which part, (1}, (2), (3) or (4), helps to support the plant upright?

Study the diagram below.

T

3

 —

Which of the foflowing statements is frue?

(f)  Object T has a smaller volume than object S
(2}  Both objects T and S have the same mass.
(3)  Object T has a greater mass than object S.
(%) Both objects T and S have the same volume.




Seciion C: -Ended, tions
For questions § and 8, mﬁamanmsmmespamspmnded Ttxenumherafmarks
avatlable is shown in brackeﬁ[]atﬂ:eendofeadtqua@ﬁonorpartqueston

(41

() I which part (A, B, C, D of E} is food cut into smaller pieces? Explain fiow
this helps with digestion. L [}
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& Samuel ghied a dry piece of cotion wool in & funnel as shown below. He then
lowered the funnel into a basin of water.

| funnel
) —
! |

What will Samuel observe? Explain why. [2}

End of Paper
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SCHOOL : ACSP.
SUBJECT : SCIENCE

TERM WA 2
SECTION A
| Qi Material 8
Material A
| Material C _ .
a) It allowssome light te-pass throngh.it wilkalpbw enough to pass to light
up thirgrea around it but it does not allow light fnpass through.
b} Flexibie :
SECTION 8.
ez [
Q4
3 OB O
4 OB SO
Q5 3 Mouth, stomach and the small intestine. ‘
"By A When the food is cut into smaller pieces there wilibe more surface
area making digestion faster.
Q6 | The cotton wool will get wet air will escape from the tip af the funnel water air
flow ifito tne fixanel to absorb the air in the funnel. Thewater level will rise in
the funnel. _

EdO
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